5th Grade Lesson Plans
Review

May 4 - Adding Fractions with Related Denominators

May 6 - Finding a fraction of a quantity

May 11 - Continue and describe sequences, Adding fractions with related
denominators, Extension: Fraction of a quantity

May 13 - Year 5 Fraction Post - Test



> denorrinators in these fractions are different, we can -

ogether -

Use a Praction model.
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Use the: chﬂon modeis +o solve The addrﬁon sums Fracﬂons wﬁ*h r‘elcﬂ'ed

denomlnm'or*s
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Convert the fraction into an eqt.aivc:ltemL
~ fraction so i has the same denominator
as the other fraction

Add the fractions
and if possible,
convert from an
improper fraction
Yo a mixed fraction
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There are 8 stars.
To find % of 8 stars, look 01' the
denominator.

The dehominator is 4. This telis us how
many ‘groups’ we need. We need 4

groups. Two groups have been circled.
Trace over the other two groups. So, ohe-quarter of & = 2

How rmany stars are in each group? | The cdculation for this is

&+H4=2

| stars in each group

& b b B
* * 0°0 000 * *




9 soccer balls is equivdlent +o

3x3=9
% Of the enfire
9 soccer balls,

Multiply the
One-quarter
by the
numerator

quantity. Shade g total of



20 + 5

Steven and hIS brbfher; |

opened a box of cookles.
There were 45 cookies in
the box. Altogether, They
ate one-Fifth of the
cookles. How many
Cookles were eaten?

Sam completed her
maths test. There were
2 questions. She got -
ohe-quarter of them
ncorrect. How many
guestions did same
answer incorrectly?
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i Monty and his sister had

| To clean up all their blo

cks

i
I
i
[
? in the toy room. There | _gm f 20 D +5=4 8
1 were 64 blocks to pick up. | 5 0 4x 2 =8
l Monty picked up 3/8 of the !
! blocks and his sister picked ! _2_ of 12
I up 1/8 of the blocks. L 3 |
i
f How many blocks were ‘,’ y
! picked up? ;
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~ 6) What wil the next

P
! Circle the answer. The Seduence is
i
!

 Circle
~ Increasing decreasing r
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Increasing decreasing

- Sy e

the answer. The sequence is |

The sequence changes by
one-_______
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The sequence changes by

Sequence? Write them in the space Provided

two terms be h this fraction
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Adding fractions with related denominglors

A very hungry caterpllar spled four delicious looking leaf pizzas
at his local cafe He Just had o have somel

FIrst he nbbled upon a sweel dark green leafy pizza.
~ Thenhe spotied g bright yellow pizzal Delicious!
Next, the caterpliar cried out with Joy when he saw a crunchy red-eaf pizzal

Lastly, he gobbled up some of the ight-green and yellow-speckled leafy pizza

Altogether, how much of the leaf Pizzas did the caterpilar eat? Use the
fraction models below o work out how much was eaten
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Find 2/3 of I5
b+3=5
5x2 =10

| Answer: 10

Mick and his friend ate some
biscuits from a packet. Mick
ate H/6 of the packet and his
friend ate &8 biscuits. How
many biscuits were in the

Find H4/5 of 20 oacket?

Show your working out.
Find 7/8 of &4
Find 3/7 of 21 Some hungry cats devoured

tins of food.

Each tin was 200g of food

- Mittens ate 2/4 of his tin.

Which is greater? Socks ate 5/10 of his tin
4/5 of 60 or 2/3 of 45 FluFfy ate 7/8 of his tin.

How much did each cat eat?

How much was eaten
alrogether?




Year 5 Fraction Post-Test Name

Tick the fractions that correctly show one-fourth

Use the blank fraction models to show the following fractions
You may not need every fraction model.

6 | -
8 6 , L
6 3
Complete the folldwing fraction sums
| 2 1
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2 1 3
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10 10 4 3
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Provide two examples of each type of fraction
Unit Fraction Proper Fraction Mixed Fraction Improper Fraction

Mrs Baker sells pies. She sold 3/4 of a Harvey had 4 packets of biscuits to share

| blueberry pie, 2/8 of a strawberry pie with his friends. Harvey was starving so he
and %2 of an apricot pie. ate 2/2 of a packet. His two friends, Frank
How much was sold altogether? and Rosa, each ate 1/4. Lastly, Harvey's
friend Matt ate 3/4 of a packet.

- What is the remaining amount of the
biscuits?

1 4 6
6 6 6

Describe the fraction sequence above,




| Compare the following fractions by using < = >

ol

Fill in the missing fractions on the following number line




